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If we say it is before wIX°; why do we need a ?02; it is obvious

OVERVIEW

»ax cites a Xn*12 which derives from the word 13277 (by a 7w 127p)," that 21 &9Y;
a stolen 727p is not acceptable.” It is obvious, argues »ax that this exclusion cannot
be discussing a case where the original owner was not wX>nn from the stolen
animal, for in that case it is obvious that it is not an acceptable j277. Our n1BOIN
will explain why it is obvious that a stolen 7279 1s not acceptable. Perhaps if one
steals an animal and brings it for a J27p it is acceptable (especially if he later pays
the owner for the stolen animal).

1WTDNY P9I PR 11%3Y DIIYAN IUNNI R 9107 *WiTH 1998 1NWTD 1959NRT
For even if the thief (or the owner) was w>7p» these animals, they are not w7,
for the rule is that if one stole an item and the owners were not wX>»nm», then

both the 1573 and the 7121 cannot be w7 the stolen item. A 1217 must be w17p; otherwise
he is 7912 1910 vMW which is prohibited.

SUMMARY
A stolen item (before ¥IX”) cannot be brought as a 127 since neither the owner nor
the thief can be v>7pn it.

THINKING IT OVER

1. mvoIn states that before YX* the thief cannot be w>7pn the animal.” What is the
ruling if the owner was wX>»nn (after it was stolen) and the 1713 was w>7pn it, does it
become v17p (if we assume that 777°132 WX’ is not XN»IRTA rmp)?6

2. The rule that the 1513 cannot be w>Tpn if there was no WIXY; is that (also) a Xv*wp?’

PR xp.

? This (also) means that if he was obligated to bring a 1277 and he brought a 23, he did not fulfill his obligation.

3 If the animal cannot retain any 7217p; it remains 19171, then obviously it is not an acceptable 727p.

* See 8,10 (2,m0) 1mP%. The 1713 cannot be w>7pn the item for it is not his (the owner was not wx»nn), and the owner
cannot be w>7pn the item since it is not in his possession. See ‘Thinking it over’ # 1

> See footnote # 4.

% See X"wan.

7 See X" 2"
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